


Find the value of 16 %% of 66 % % of

9.09% of 14.28571% of 21
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Ravi’s monthly salary is ‘A’ rupees, of
the he spends °‘x’ rupees. The next
month hehas Unteeyof C %in his salary
A y & and D % in his expenditure. The new

amount saved is.

Ma & g A ®ud ofl a1 98 x TUY @d
AT AT SAD! AT C% ¢ Wrdl B aAl
9dl D% SHP! T8 99d ¢ |

A A1+ g1 l'f,LJ
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The price of a product -collectively
decided by five factors say, A, B, C, D

and E. if there is respectlve changes of
+ 10% 4 20%, +25%,ent£+50% in the face
factor. The find the overall changer.
fodfl 9% @1 @9d 49 s A, B, C, D
dar E R iy axclt @ afe ) HRBI DI
AL ﬁ+10%,+20%,+25ﬂ/u, qeT +50% &I
4Sdrd g dl 9% & dMd H deard gfaea
i g

(a) 97% (b) 95%
T 98% @ (d) 96%
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If (3x - 10)% of 150 exceeds xu 300
by 15, then by what percent is (2x + 5)%
of 220 more than (x + 10)% of 2507

gfe 150 @1 (3x - 10)% 300 d x% ¥ 15
aftre & @ 220 &1 (2% + 5)% 250 & (x +
10)% & feaam yfoera afte 2

(a) 28.4% (b) 3.5

2 %(x ,&\c) 24.2% 19732%
s

R
B R
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If 1.7% of 800 x 2.5% of a = 382.5, then
the value of a is.

afe 1.7% &1 800 x 2.5% &T a = 382.5 dl

a &7 A 2 |
(a) 1075 (b) 1100
Jd 1125 (d) 1150




If X% of 190 is 15 less than (x+10)% of
——
E_S_O, then (x+30) % of 90 is what percent
more than x% of 1507?
3A+B—1-9%—=15 afz 190 B x% @1 7 180 B (x+10)% @
15 %9 2 d 90 @ (x+30)% &1 #19 150 &
3 = 01X o et wRiera afre @)

(a) 16%% (b) 25%
2 3 <
(6% %S, YX V0 A 20% :

(d) 173%
6. F @
\
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A number is decreased by 24% and then

increased by, K 18% What/ is the not
increase or decrdase perfent in the
number.

Uh &l § 24% @I
18% ¥! qfg @1 ol 2 4
¥ yferera @ 2 |

(a) 17.51% decrease

urdl & 3R
& Ffear

) 10.32% decrease X677 ¢ \?f
—QQ*‘Q.—Q“K\g (c) 11.14% increase

|

(d) 18.97% increase

®



Find the value of k 45% of 800 - k %
450 = 61.2% of 500
k &T |19 a3 45% of 800 - k % 450 =

61.2% of 500

(a) 18 M2
(c) 24 (d) 25



The population of a village increase by

6.25% every year. If the present
population of the village is 4046, then

what was its population 2 year ago.

2
17— Yo U Md & F99& &1 yfaay 6.25% @)

2 C gfg @idl @ afe ma A gdam SEEEn
J_é, —_ 4046§m2ﬁqﬁsﬂaﬁmwﬁm=ﬁ

9
~b3580”
@ (d) 3574

""'---.
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Find the value of (1095 of 16.4%) - (324
of 3.5%)
(1095 of 16.4%&) = ‘324 of 3.5“/&) bl HIH

qaran | 6 X L3 Q)
| (a) 164.75 (b) 165.2 S

q (c) 166.5 4 168.24 3
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If x exceeds 25% of itself by 72, and y
exceeds 40% of itself by 60, then vy

U exceeds x by:

J, ._i_ Iqfe x 3T 3T & 25% | 72 SATGT & a2l

9¢ D y AU I P 40% ¥ 60 RT 2 @l y,x ¥
fas uferera samer 2|

_ﬂ: 1 (a) 3.8 % (b) 5.6 %
g{ Q‘/-—‘C) 4.2 % ‘d) 4.9 %
092,
1>



ﬂ B C A is 30% more than B and C is 18% less
than the sum of A and B. by what

I3D I O ,336 percentage is C more than A.

\_/l A, BdY 30% 3fré 2 3R C, AR B &

l15 g7 4 18% &9 © C, A 9 fead uRm@

Se e
(a) 44.7% (b) 40.9%
Prs _JeT45.1% (d) 48.4%

@ 0x Q-
Coltulobwe




ecreasing 110 by x % gives the sume
theo-) = Sptro+%,]

ult as increasing 50 by x %, then x %

of 650 is what percentage more than (x-
10) % of 780.

bro=l6x Ife 110 & x % geH W) YT G&T 50 &l
%-ﬁ:ﬁ X % 98 W YT W& § ¥EY 2 dl 650

2 ¢ & x % 780  (x-10) % &1 fbad yfaera

\| £7F
Q SS‘)('.)-@ (a) 17% (b) 12%

(c) 18% ) 14%

2% 21 % ®)
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A class has five section that have 25,
30, 40, 45 and 60 students
respectively. The pass percentage of
these section are 20%, 30%, 35%, 40%
and 100% respectively. The pass
percentage of the entire class is.

Uh d&T ¥ 591 =@ foad 25, 30, 40,
45 T 60 9@d © IfC X TP a1 A 20%,
30%, 35%, 40% a1 100% §&d HHI: U
gl 2 @ 78 @& § g fdad 9= U™
gy’

(a) 87% (b) 63%

c) 53% (d) 79%



If 25% of 400 + 35% of 1260 + 27%
1800 = 1020 + x, then the value of x lies

between.
afe 400 1 25% + 1260 $T 35% + 1800

&1 27% = 1020 + x d x $T 419 BT |

‘)a-)’ﬁto 10 (b) 0 to 5

(c) 11 to 15 (d) 16 to 20

100+ Uy +Y @6=| 63042

® oD



A number first increased by 40% then
decreased by 25% again increased by

:l. 15% and then decreased by 20%. What
is the net increase / decrease persent in
—X %’(-‘I—Bx_}f the number.
5 R O AR e wE B ged 40% TG WA @
S iy 25% ®erT WAl @ qART 15% 9
\133 AT 9AT 20% T af gl ¥ yfawd gfE
-__..D-n- i g
m (a) 7.2%&1 (b) 6.4%]

~\K (c) 3.4%1 3.7,
o S w@



If 50% of (p-q) = 30% of (p + q) and Q = x
% D’P, then the value of x is.

Ife (p-q) BT 50% = (p + q) BT 30% TAT Q
=x % of Pdl x &I #I49 &I |

(a) 30 125

(c) 20 (d) 50

_P_-\-‘_’_V:._.& @



A GI A shopkeeper charges sales tax of x%up
/\'Tl.'f \37- to Rs 2000 and above it he charges y%

A customer pays total tax of Rs 320
/- O
V‘ QW'O L‘ %2\0 when he purchases the goods worth Rs

L.(‘iﬁ) Q"‘ﬂ 6000 and he pay's the total tax of Rs
RM IW\N 690 680 for the goods worth Rs 12,000. The
value of (x-y) is:

4t fovd = U$h GG Rs 2000 dh x % &I 4B X
? 3Q°m%wmwwu$rtrﬁw
&

ITed Rs 6000 &) a3 & forv 320 &1 fam!
&Y dAT Rs 12000 &1 9% & fU Rs 680

L' &1 fa) @ garar = b (x-y) &1 #7149 1?
~6=-Q/ wa-2 (b) 2
(c) 3 (d) 4



A fraction in reduced form is such that

when it is squared and then its

_5. numerator is increased by 25% and the

== denominator is reduced to 20% it

8 flesults in 5/8 of the original fraction.

The product of the numerator and
denominator is.

afe fedl =1 &1 99 e SHd JI H

25% &1 gfg TAT X H 20% B HH B WY

dl 98 3U+ o =1 &1 5/8 & Wl & al

o =1 @ 39 dAT & BT [UHGB I |

(a) 6 (b) 12
Jd 10 @ (d) 7



A customer asks for the production of x
,’./ number of goods. The company
produces y numbers of goods daily out
of which z % are unfit for sale the order

w1ll be complete in.
gfe ®Ig 8D x 9%  SUIGd BT 3TN
gl.ll é“'s"‘ﬁmﬁmﬁﬁmﬁyaﬁmwm
urdll 8, Foad 9 z % 9% PR A Ol @
[Ny mmﬁﬁmﬁﬁﬂﬁ'gﬂﬁml

‘(j (loﬁ"'L) (a) - days (b) i n days

100y(1 - z) X
©/ e days (d) - - days
y(100 - z) y(z-1)




40% employees of a company are men

and 75% of the men earn more than Rs.
25,000 per year. If 45% of the

company's employees earn more than
Rs. 25,000 per year, what fraction of the

women employed by the company earn
Rs. 25,000 or less per year?

fedt d7aft § 40% Y&y HHA & qon
75% Y®Y HHAR! Rs. 25,000 T 4
SIGT A & Al Y& S D 45%
HHAR! Rs. 25,000 ¥ SATGT A & dl
Afedrent &1 fed=m ¥ Rs. 25,000 a7 S99
&9 B © |

(a) 2/11 (b) 1/4

(c) 1/3 \uAf3/4



ometu £
A person who has a certainhwith him

goes to market he can by 50 oranges or
40 mangoes. He retains 10% the amount
for taxi fares and buys 20 mangoes, and
of balance

number of oranges he can purchase is

e Afdd /e T 8 R 8 IR
WIdT & 98 A7 d 50 O} @¥Ig gdhdl & aqT
40 I 98 10% ¥ foxd @ forv qamax
20 I G odr & o AY g4 A 4 98
foad =R @i gdal o

(a) 36 (b) 40

(c) 15 ) 20



S00 kg of ore contained a certain
amount of iron. After the blast furnace
of process, 200 kg of slag containing
12.5% of iron was removed. The
percentage of iron in the remaining ore
was found to be 20% more than the
ercentage in original ore. How many kg
f iron were there in t %nginal S00 kg

re? &
00 kg dle Wﬁﬂgﬁﬁ#ﬁm

| o1 &9 @ 916 200 kg Wi o
12.5% diel & Fora f&ar sar @ a9 9ral
94 g4 AT A die &I gfaea 4= 20%
Gl & Ugd @ JUET Al AR 500 kg

S 2 q die & & qmar oAl x
(a) zu% (b) 145 ":\l)__
(c) 85 Lfﬂ)/39.28




In an exam a student is asked to divide
7.5 by 8.3 and finding the result upto 3

7 ¥ 2 places of decimal, but by mistake he
—— 3 : divide 8.3 by 7.5 and finds the quotient
315\ ?S’ upto 2 places of decimal. Find the

error%.

':?‘S'z: 33L frefl whem ¥ B9 & 7.5 & 8.3 ¥ H
S-‘,Qs--éggc] QHY STX Bl SIHAd b dIF IF db FTd

\'J X1 B B8 T W d€ 8.3 $ 7.5 4
F-yqe ﬂmé%méawwamaa$ﬁfﬂ§a

) Zwmmémuﬁﬂﬁﬁm\w

| 4 (a) 21.8% (b) 20.7% \b
%ﬂ‘_ (c) 24.2% / \%;;’:_“




The school A there were 500 students
60% them are boys, 60% of them are
boys, 60% of boys play hockey and girls
don’d play hockey 75% of the girls play
badminton . There are only two games.
Thé/ﬁumber of students who don’t play
any game is

Uh ¥hod AH 500 B & TAT 60% dSD
2| ds® 60% BID! Wald & dAT Bls ASDI
gl 8] "Wadl ©| dsfeal s 75%
dsfires @adl € afe @aa <1 & 9oR @
d@d & d fead s @ig AN 19 T8 Gad
e

(a) 10% (b) 36%

(c) 46% V(,deND



Reducing x by 10%makes it 100. Find
the value of x when 10% is added to it.
x 4 9 3BT 10% " UR, 98 100 §9

ordar & Ife x # SUPT 10% SiisT o dl
SYDT |9 BI:

}plzﬁ 122—
9
:ﬂ 1110 I Il1010




When a barrel is 40% gg{pty, t contain
80 litres more than when it is 20 % full.
The full capacity of the barrel is

Wd d¥d 40% Wrefl glaT & o 99d 80
‘10%—930 offex SITQT BIdT @ o4 98 20 % ¥XT &idl &
[LO% -0 Gt Iva ) eRar saran

ar 200 (b) 2010

@ (c) 180 (d) 160

Ry



10% of the 20,000 students sat for
exam 3% of these who sat for exam

made to it honor list and 40% of those
who made it to honor list made it
distinguished honor list. How many
student made it to the distinguished
list.

20,000 BT ¥ ¥ 10% U® 9&Er ¥ 49d @
dIT 9@ < drel # 9 3% 9w Hofi 7
A & dAT ol g=E A H A SuH 9
40% fauiy W= fAoft § ad @ o feas

Ba fagy == goft 7 3,

(a) 4o
(b) 3¢C
ATy

(d) Now



25% of the cost of 25% of a dozen of

banana is Rs 1. Find the cost of two
dozens of banana?

1 SOl @ @ 25% B HT oI BT 25% ®
181 @ g gold dal BT Hou BT

A 32 (b) 16

(c) 24 (d) None of these

®
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10
30 430
3%

A7

A customer paid tax at 10% on the bill
of 700 dollars and also tips 10%. In first
case he calculate the tax and tip both
on base price of bill. In second case he
calculate tip on the bill after tax then
what is the difference of amount of both

CasSes.
Pl TTed 700 $ © 4 W 10% &Y T

10% feu Qa1 @ Ugd IR TUET &Rd 9Hd
gg feu dur &% 91 @1 T 99 @ qd
RN R $xar 21 91, guN IR 98 feu &l
AT $Xd 916 o T fdd ) $ar @

HE 3=} BT |
(b) 3.5
(d) None of these

(c) 14



Gaurav Azad went to a restaurant and
consumes food of S000 Rs. he needs to
pay GST of 20 % on it an he also give
S(/vo % 10% tip to the waiter. Now manager give

| eAO o him two option.
e _S.'-S_UG Ist: pay the tax on the bill, then give a

tip on the bill after tax.
6o \|loO

72 —  IInd: pay the tip, and then pay tax on
__.....-6-1.?_ 5690 the bill amount after tip.

Now which option is benefit for gaurav?

U HioHIed H Sdl @ a1l 5000 &9
®T Aol 9T rdl & SS9 5000 &1 IR uR
20 % BT GST HX HAT BT AT d8 dexX &l
10% &1 feq Y <91 aEdr 8 "oy &1
ya-td 99 ol fddcd qdr 2




Ugdl: faa 4 &% wis foar ord aoar fie fex
@1 MUET B A

SURT: U o fdd w feu &t o qen R
B @ TET qd fda d ey Wi w0
ord df S9e fov @19 91 fadey amveae®
B |

(a) Ist (b) IInd

(c) N (mmt At  dBoth

>




If 663%01' 75% of one-eighth of a

3

certain number is 179, then 331% of

3
three-fourth of that number is:

afy fedl frefe @ @ %a% 75% b
Geg%aﬂmﬁ 179 &, df Sl 9T &1 19

1 1

EIRIEEG 335%— o gim?
n

(a) 537 716

(c) 787.6 (d) 859.2




If 25% of half of x is equal to 2.5 times
the value of 30% of one-fourth of vy,
then x is what percent more or less then

Y.
_q afe y & te-alars & 30% &1 2.5 TUIHH
—Jﬁﬁ%x;’\—;}i%x ® 3™ B 25% P WE =, dl x, y 9
3 fora= ';rﬁrﬂﬁ & 31T IAfeH 27
3}_‘ (a) 33= %more (b) 33%%1(333

(c) 50% less JAT 50% more

2
©




If price of petrol increase by x % but
consumption decreases by x% due to

total expenditure decreases by 20.25%
find the percentage, change in

expenditure. If price and consumption
both will increases by x/3%.

Hﬁ?ﬁ‘gﬁﬂﬂﬁaﬂﬂﬂﬁx%ﬂﬁqﬁ'ﬁ?ﬁ%
dfe @ud § x% & $H IS 8, oA @d
# 20.25% @1 &1 a1 2 | afT a7 AR
SYAT Sl § x/3% ¥ gfg gHf, af @
uRad« @t

(a) 31.25% W7 32.25%
(c) 39.24% (d) 31.625%




